OO0 ITAOO No. 7

02000
goooob oo

8 UuUguy

84 0LUUUOUOOLOOLDLOO OOO

000000000 (X,dx), (Y,dy) D0O0O00

00 130 (1pt) OO0 f: X —-YOOOODOOOOODOOOOODOODOOOODOOOOO

O000e>002zeX000000046>000000 f(Ux(x,d)) C Uy(f(z),e).

00 131 (Ipt) (X xY,d)000 11500000000000000f: XXY — X0 f(z,y) ==
00000000000000000

00 132 (Ipt) 0000 f: X - YOOOO C>00000 dy(f(z), f(y) < Cdx(z,y) 000
000000 f000000000000

00 133 (1pt) R" 000000000000 O0ODO0O0OOOO0OO0ODOOOOOO f:R*—-R™
gbooobooboooogn

00 134 (2pt) (X,|-|lx), V.| -|y)0000000007T: X -YOOOO0O0000000O0O
0000000000

() TOOO0OO0OO

(2) TOOODODOOOOOOOOOD C>00000000000zeXO0000 ||Tz]ly <Clz|x
ooooo

85 UDLOUOOOOOOO
00 8.1 (X,dx)00OUOUODAO XOOOOOOOOO

e l2e XU ADUDODOODUODOze AOO,00e>00U(z,e)CcAODODOODODOOODO
ooooooo

e lzeXD AOUOUODODODODODODOOO a,€AD0a,—2000000000O0ODODODODODO

e lzxeXD AUOUODDDDOUOODDOUO a,€ A\{2}0a,—2000000000000
gooo

e 10 A0 ,000000O0OOOO,0xz0 AD0DDDODODODO.

00 135 (Ipt) D2 € X0 ACXOO0O0OO00000000e>000000U(z,e)NA#£QD
000000000000000000

00 A0DDDOOOO A°, 000000 A0DDOO0O0O00OD0 A0OO0OO,A0000000

A0A0D00OOOOOO

00 136 (2pt) AC X 0000



(1) A°c AD0O00O
(2) A°0000000000000

(3) A°0 ADOODUOOOUUODOODUODOOUOODOOODUOOOOO

00 137 (2pt) Ac X 0000
(1) AcADDOO
(29 A0000000000000

(3) A0 ADDDDOOOOOOOOOOOOOOOOO0O0ODO

00 138 (1pt) R?O000O0DOOOOO0000O0ODOOO0O0O0OODOOO ADOOOODOOOO
gboooboobooooobobooooon

A={(z,y) |2® +y*>1}U{(1/n,1/n) | n € N}

00 139 (1pt) R°O0000O0OOD0O00000O0DODOO00O0O0OODOOO AOOOOODOOOD
gboooboooboooooboooooao

A = {(z,sin(x)) |z € (0,7)}.

00 140 (1pt) ROOOO, 0000 AD A°,A, 0000000000. (1) A= {0} (z0 €R).
(2) A=(0,1). 3) A=Q. (4) A=R\ Q.

00 141 (1pt) R20O0O00, 0000 AO A°,4, 0000000000, (1) A = {(z0,10)}
((z0,50) € R2). (2) A= (0,1) x [0,1). (3) A=Q x Q.

obooobOoboooooboobooooooboon.

00 142 (1pt) 0000 (X1,dy), (Xo,do) 0000, (X3 x Xo,d) 0000000000 DO0O0O
0A CX,4,CX,0000,A4, xA; =4, xA,0000000000.

gbobooboboooobooooboooboon.

00 143 (1pt) ACcXOOOOOOOOOOOOOO.

A= (A7), A° = (A9,
00 144 (1pt) A/ BCcXUOUOOOOOOOOOOOOOOOOOOOOO.
(1) (A°)° = A4°. (2) (ANB)° = A°NB°. (3) X°=X. (4) AC B= A° C B°.

00 145 (1pt) (X,d) 00000, A BC XO00OOOO0000. 000 (ANB)° = A°NB° 0
000 (00 (3). 000000 (AUB)°>A°UB°000000,00 (AUB)°=A4°UB°00
000000000.0000000000000R200000.

00 146 (1pt) (X,)00O0O0OD0,A,BCcXO0OOO0OOOO. 0000000 DOOO.

(1)

N[

=A (20 AUB=AUB. 3)0=0. 4 ACB=ACB.

00 147 (1pt) (X,d)00000,A4,BCX00000000. 000 AuB=AUuBO0O0ODO
(00 (2)). 000000 ANBCANBOOOOOO,00 ANB=ANBOOO0ODODOOOOO
0.0000000000000ROOOOO.



86 LUUUUbOOd

O0000000000000,0000,000000000. 00020 (exterior), 00 (boundary)
oooooo.

00 8.2 (X,d)ooO0o0O0O,AcX0O00ooooog.

e AD0DD extAOODOODOOO.
ext A =X\ A

ext ADDODODODOODO AODOOOOOO

e A0 OAOOOOODODO.
OA =4\ A°.

JAOD0QOOOODO AopooOoOoOoOO

000000000000000000.00DO0000 D:={(z,y) eR?|224+¢42<1}000.
00 148 (5pt.) 0000 R?20000,000DP0O000.DOOO,00,00,0000000.

00 149 (5pt.) D000 R20000,0000 A=D\{(1,0)}0000. ADDO,00,00,
ooooooo.

00 150 (5pt.) D000 R20000,0000 A=D\{(0,0)}0000. A0D00,00,00,
ooooooo.

00 151 (5pt.) 0000 R20000,0000 A=DNn(QxQ)0000. ADDO,00,0
0,0000000.

00 152 (5pt.) 0000 R?20000,0000 A=R?0000. A000,00,00,000
googd.

00 153 (5pt.) (X,d)00000,ACX0O0OU00O00O0O0.02zeX0O000,0000000
ooooo.

(1) 20 ADDODODDOOO.

(2) 2€ ADDDODOD,00 r>000000, B(z,r)NA={z}.

00 154 (5pt.) ROOOO, A:={1/n|neN}0000. ADDDDDODOOOOOOOO.

00 155 (5pt.) ROOOO, A:={0}u{l/n|neN}0000. ADDODDODODOOOOO.
00 156 (5pt.) ROOOO, A:=QO0000. ADDOOOOODDOOOOO.

00 157 (5pt.) R20000, A:={(z,y) eR? |22 +4* <1} 0000. ADDOOOOOOO
oooo.

00 158 (5pt.) R20000, A:={(z,tan(z)) € R? |0 < |2| < x/2}0000. ADDOOODO
ooooooo.

00 159 (5pt.) ROOOU, A:=Z0O0O0O0O. ADOODOOOOOOOOOOOOOO.



00 160 (5pt.) RNODOO, A:=2Z" = {(21,...,2n) €ERYN | zy,..., 2y € Z}0000. AD
DO0o000DO00oOooooooog.

00 161 (5pt.) O0O0OO (X,)0000,000000 AODOOO. AQDOOOOOOOOOO
goooooo.

00 162 (1pt)
00 163 (1pt)

00 164 (1pt)



